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1. Explain the following terms: (Your grade will depend on the accuracy and the qual-

o

(fF)

ity of your explanation.)
(a) (4 points) Purchasing Power Parity.
(b) (4 points) Bretton Woods System

)
(c) (4 points) Covered Interesﬁ’\afe Parlty
(d) (4 points)
(e) (4 points) Supemeutra\lﬁy of Money.
)
)

Lucas Cn‘aque. = _HfE

(f) (5 points) The Heckscher-Ohlin Model.
(g) (5 points) The Harrod-Domar Growth model.

(a) (10 points) Use an AD-AS-LRAS model to discuss what kind of monetary or
fiscal policy a government should adopt to maintain a low inflation when the
economy experiences a permanent positive shock to potential output. Other-
wise, what if the economy-experlences a permanent negative shock to potential
output?

(a) (10 points) Show the pohcy effectweness under a fixed exchange rate system
and under a floating exchange rate system, respectively, by assuming the central
bank contracts the money supplv (Hint: Use Mundell-Fleming Model )
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